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ASSAM CIRCLE-PA/SA EXAM -2022 
 
(1.) Blind literature packets are not exempted from payment of following fee: 

(A.) Registration fee (B.) Airmail charges 
(C.) Payment of postage (D.) Fee for acknowledgement 

(2.) Validity period of instructions received for every change of address is: 
(A.) One Month (B.) Two Month 
(C.) Three Month (D.) Six Months 

(3.) Letter posted as insufficiently prepaid is charged on delivery with: 
(A.) Double the amount of Postage  (B.) Double the amount of Deficiency 
(C.) Five times the amount of Postage  (D.) Five times the amount of Deficiency 
(4.) For how long the value payable parcels addressed to 'PostRestante' can be retained in the office to 
which they addressed 

(A.) 7 days (B.) 14 days (C.) 15 days (D.) 30 days 
(5.) If an article is refused, it will be kept in post office for 

(A.) 2 days (B.) 7 days 
(C.) Kept in post office permanently (D.) Return to sender immediately 

(6.) Franking Machine will be set/re-set by an officer of the Department not below the rank of? 
(A.) Postal Assistant    (B.) Public Relations Inspector (Postal) 
(C.) Asst. Superintendent of Post Offices  (D.) Superintendent of Post Offices 
(7.) Every letter, packet or parcel has to be stamped with the date stamps of at least …… post offices? 

(A.) One (B.) Two (C.) Three (D.) Four 
(8.) The manufacture and use of fictitious postage stamps for any purpose whatever is prohibited, and is an 
offence punishable under section........of the Indian Penal Code.  

(A.) 260-A (B.) 261-A (C.) 262-A (D.) 263-A 
(9.) Maximum weight of a Parcel that can be booked at BO is 

(A.) 02 Kg (B.) 10 Kg (C.) 20 Kg (D.) 50 Kg 
(10.) VP article can be booked up to 

(A.) 1000 (B.) 2000 (C.) 5000 (D.) 10000 
(11.) The weight of Aerogramme should not exceed 

(A.) 2 grams (B.) 3 grams (C.) 5 grams (D.) 10 grams 
(12.) Maximum weight of a foreign Parcel is 

(A.) 5Kg (B.) 10 Kg (C.) 15 Kg (D.) 20 Kg 
(13.) The delivery of foreign article in the country of destination 

(A.) Varies from country to country (B.) Uniform all over 
(C.) Depends on Senders request (D.) None of these 

(14.) The general maximum limit of weight for Air Parcel is: 
(A.) 10Kgs (B.) 20Kgs (C.) 30Kgs (D.) 50Kgs 

(15.) The general maximum weight for International speed post (EMS) is: 
(A.) 20Kgs (B.) 30Kgs (C.) 35Kgs (D.) 50Kgs 

(16.) What is the Maximum weight of M Bag under International Mail products? 
(A.) 7Kgs (B.) 10Kgs (C.) 20Kgs (D.) 30Kgs 

(17.) Articles liable to export duty are detained at the outward office of exchange and the sender is informed 
regarding the payment of duty 
(A.) By the office of exchange   (B.) By the custom authorities directly 
(C.) All of the above    (D.) None of the above 
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(18.) The exchange of insured letters is governed by 
(A.) UPU parcel post agreement (B.) Universal postal convention 
(C.) Special bilateral agreement (D.) None of the above 

(19.) Custom control for postal articles is primarily exercised in which of the following offices? 
(A.) General Post Office (B.) Speed Post Hub 
(C.) Parcel Hub (D.) Foreign Post Office 

(20.) Letter post articles containing dutiable goods addressed to foreign destination should be accompanied 
by 

(A.) Cash on delivery form (B.) Customer ID proof 
(C.) Customs declaration form (D.) Customs duty form 

(21.) Premature withdrawal is allowed in sukanya samriddhi account after the girl attains the age of ...... 
(A.) 12 years (B.) 16 years (C.) 18 years (D.) 21 years 

(22.) PPF Account is opened with minimum amount of Rs: 
(A.) 500 (B.) 100 (C.) 1000 (D.) 50 

(23.) The minimum and maximum Sum Assured for RPLI in Rupees is 
(A.) Minimum of 5000 and Maximum of 500000 
(B.) Minimum of 10000 and Maximum of 500000 
(C.) Minimum of 5000 and Maximum of 1000000 
(D.) Minimum of 10000 and Maximum of 1000000 
(24.) RPLI Endowment Assurance (GramSantosh) can be surrendered after: 

(A.) 1 year (B.) 3 years (C.) 5 years (D.) 10 years 
(25.) Posting of Bill Mail Service may be posted by a service provider to customers at least once in..... days 
under this service 

(A.) 30 days (B.) 45 days (C.) 60 days (D.) 90 days 
(26.) What will be the rebate on advance deposit of 12 months in RD account for denomination of Rs.100? 

(A.) Rs. 10 (B.) Rs. 20 (C.) Rs. 40 (D.) Rs.80 
(27.) What is the brand name of personalized sheets of Postage Stamps of India Post? 

(A.) My stamp (B.) Nanyatha (C.) Deendayal (D.) Sparsh 
(28.) What is the maximum weight limit of a letter? 

(A.) 2 Kg (B.) 5Kg (C.) 10 Kg (D.) 15 Kg 
(29.) What is the maximum weight limit of a book packet? 

(A.) Not more than 2 Kg (B.) Not more than 5 Kg 
(C.) Not more than 7 Kg (D.) Not more than 15 kg 

(30.) Proof of Delivery charges is INR ..... per article in addition to speed post charges 
(A.) 5 (B.) 10 (C.) 15 (D.) 20 

(31.) Memorandum of distribution of work (MS-11) is issued by: 
(A.) DivisionalSupdt (B.) Asst.Supdt. of posts 
(C.) Inspector of posts (D.) Head post Master 

(32.) As per postal manual volume VI, an attendance register in which form will be maintained in every 
post office having more than one clerk? 

(A.) S-37 (B.) ACG-11 (C.) MS-67 (D.) S-33 
(33.) Article addressed to persons who are dead should be treated as if? 
(A.) Normal Article and can be delivered to the son/wife/daughter of the deceased 
(B.) Normal article through window delivery only 
(C.) Unclaimed article 
(D.) Article with Insufficient address 
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(34.) Village sorting list in form of M-52 will be prepared and supplied to each office by 
(A.) Divisional Superintendent (B.) Sub Divisional Inspector 
(C.) Sub Postmaster (D.) Head Postmaster 

(35.) The annual fee of business reply card should be realized in advance and credited to 
(A.) UCP (B.) UCR 
(C.) Postmaster Account (D.) None of these 

(36.) If the holder loses his metal token, he must immediately report the fact to the ........... 
(A.) Record Officer (B.) Head Sorting Assistant 
(C.) Superintendent of RMS (D.) Inspector of RMS 

(37.) The term M-42 for Transit sections and M-43 for Mail Offices is used......... 
(A.) To prepare error Report (B.) To prepare Mail abstract Island 
(C.) To prepare report of missent  (D.) To prepare metal token stock 

(38.) In connection with foreign mails the indication "Paravion" denotes mu 
(A.) By surface Mail (B.) By Airmail 
(C.) By Sea mail (D.) Advice of Delivery 

(39.) If a foreign article is addressed 'postrestante' from which day warehousing charges will be levied? 
(A.) Eighth day (B.) Tenth day 
(C.) Fifteenth day (D.) Twenty first day 

(40.) The Head sorting assistant is required to submit to the superintendent through the record officer, a 
daily report in which the irregularities observed by him in which form? 

(A.) ACG-22 (B.) MS-37 (C.) MS-83 (D.) M-58(a) 
(41.) What is the meaning of CBS under IT modernization project? 

(A.) Core Banking Solution (B.) Cloud Banking Solution 
(C.) Core Banking Segment (D.) Cloud Banking Structure 

(42.) What is change management stream of IT modernization project? 
(A.) Changing Old computers 
(B.) Changing Mail Services 
(C.) Training, preparing all employees of the Department including GDS 
(D.) Changing all the earlier vendors of the department 
(43.) FSI in IT Modernization project stands for: 

(A.) Functional Service Integration (B.) Financial Services Integrator 
(C.) Factual System Integration (D.) Financial System Incorporation 

(44.) Primary Data Center of Department of Posts is located at.............. 
(A.) New Delhi (B.) Mysuru 
(C.) Bengaluru (D.) Navi Mumbai 

(45.) What is the meaning of IPVS? (with reference to CSI) 
(A.) India Post Visibility System (B.) India post Virtual Server 
(C.) India Post Vehicle System (D.) India Post Vertical Scheme 

(46.) 'SSO' in Core System Integrator under IT Modernization project refers to: 
(A.) Single Sign Off (B.) Single Sign On 
(C.) Savings Scheme Operation (D.) Small Savings Order 

(47.) In IT Modernization project, what is NSP stands for 
(A.) Network Service Provider (B.) Network Support Provider 
(C.) Network Scheme Post (D.) Network Server Portal 

(48.) The segment of It modernization project which provides hardware to mail offices and handheld 
devices to postmen is called: 
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(A.) Rural system integration (B.) Core system integrator 
(C.) Mail operation hardware (D.) Rural hardware 

(49.) 'HRMS' module is a part of which of the following: 
(A.) Finance (B.) McCamish (C.) CIS (D.) CSI 

(50.) DARPAN stands for: 
(A.) Digital Advancement of Rural Post Office TA for A New India 
(B.) Domestic Advancement of Rural Post Office forA New India 
(C.) Diplomatic Advancement of Rural Post Office forA New India 
(D.) Digital Adventure of Rural Post Office forA New India 
(51.) Except Assam river Brahhmaputra pass through which state in India? 

(A.) Tripura (B.) Manipur 
(C.) Arunachal Pradesh (D.) West Bengal 

(52.) The Central Rice Research station is situated in? 
(A.) Cuttack (B.) Chennai (C.) Bangaluru (D.) Kolkatta 

(53.) The term “Googly" is associated with? 
(A.) Football (B.) Cricket (C.) Volleyball (D.) Hockey 

(54.) Apatanis are the tribes found in: 
(A.) Sikkim (B.) Nagaland 
(C.) Himachal Pradesh (D.) Arunachal Pradesh 

(55.) In which city of India the famousRath Yatra festival is celebrated? 
(A.) Mumbai (B.) Delhi (C.) Varanasi (D.) Puri 

(56.) Which type of government is chosen by the people? 
(A.) Democratic Government (B.) Dictatorship 
(C.) Monarchy Government (D.) None of these 

(57.) Which of the following movements immediately followed the partition of Bengal? 
(A.) Non-cooperation Movement (B.) Swadeshi Movement 
(C.) Civil Disobedience Movement (D.) Ghadar Movement 

(58.) In the absence of Gandhi, the Quit India movement had been led by 
(A.) Jawaharlal Nehru (B.) Sarojini Naidu 
(C.) Aruna Asaf Ali (D.) Dadabhai Naoroji 

(59.) In the Indian mythology, who sung ShivaTandavastotra? 
(A.) Ravana (B.) Rama (C.) Kuber (D.) Vibhishana 

(60.) Manas National Park or Manas Wildlife Sanctuary is a national park located in? 
(A.) Manipur (B.) Assam 
(C.) Uttar Pradesh (D.) Bihar 

(61.) If 16 dozens bananas cost $ 360, then how many bananas can be bought in $ 60? 
(A.) 16 bananas (B.) 48 bananas (C.) 32 bananas (D.) 50 bananas 

(62.) Total number of students in a class is 95.if the total number of girls in the class is 45, then the ratio of 
total number if boys to total number girls is 

(A.) 10:9 (B.) 9:10 (C.) 5:9 (D.) 9:5 
(63.) Shantanu can do a piece of work in 12 days and Manu can do the same work in 10 days, if they work 
together, in what ratio Shantanu and Manu will receive their wages? 

(A.) 6:5 (B.) 8:7 (C.) 4:3 (D.) 5:6 
(64.) Evaluate (7+11)÷5 

(A.) 12 (B.) 87 (C.) 15 (D.) 5 
(65.) Evaluate (3+6)x2 
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(A.) 9 (B.) 15 (C.) 18 (D.) 12 
(66.) What time will be taken by an amount of Rs. 900 to yield Rs. 81 as interest at 4.5% per annum of 
simple interest? 

(A.) 2 years (B.) 1 years (C.) 3 years (D.) 5 years 
(67.) A man had Rs. 16,000, part of which he lent at 4% and the rest at 5% per annum simple interest. If the 
total interest received was Rs. 700 in one year, the money lent at 4% per annum was: 

(A.) Rs. 8,000 (B.) Rs. 10,000 (C.) Rs. 12,000 (D.) Rs. 6,000 
(68.) The number which is neither positive nor negative is: 

(A.) 1 (B.) 5 (C.) 0 (D.) 10 
(69.) The difference between place value and face value of 5 in 210517 is: 

(A.) 495 (B.) 4995 (C.) 459 (D.) 500 
(70.) A bike can cover 110 km in 10 hours. How far does the bike go in 120 minutes? 

(A.) 19 km (B.) 23 km (C.) 22 km (D.) 13 km 
(71.) A train covers a certain distance in 2 hours at a speed of 60kmph. The time taken by the train, to cover 
the same distance at a speed of 30 kmph is: 

(A.) 3 hours (B.) 4 hours (C.) 5 hours (D.) 8 hours 
(72.) If 'A' and 'B' together can do a piece of work in 5 days, whereas 'A' alone can do it in 20 days. In how 
many days, the person 'B' alone can complete the work? 

(A.) 8.5 days (B.) 7.5 days (C.) 6.6 days (D.) 5.5 days 
(73.) A restaurant requires 105 Kg of rice for a week. How many kgs of rice will it require for 58 days? 

(A.) 700 kg (B.) 750 kg (C.) 800 kg (D.) 870 kg 
(74.) The average of two numbers is 8 and the average of other three numbers if 3. The average of the five 
numbers is: 

(A.) 3 (B.) 6 (C.) 5 (D.) 2 
(75.) The average age of 30 students is 9 yr. If the age of their teacher is included, it becomes 10 yr. the age 
of the teacher (in yr) is 

(A.) 27 (B.) 31 (C.) 35 (D.) 40 
(76.) If a man sells his chair for Rs. 720, he would lose 25%. To gain 25% he should sell it for. 

(A.) Rs. 1200 (B.) Rs. 1000 (C.) Rs. 960 (D.) Rs. 900 
(77.) The cost price of a radio is Rs. 600. The 5% of the cost price is charged towards transportation. After 
adding that, if the net profit to be made is 15%, then the selling price of the radio must be 

(A.) Rs. 664.50 (B.) Rs. 724.50 (C.) Rs. 704.50 (D.) Rs. 684.50 
(78.) The population of a Town increases every year by 4%.If its present population is 50,000, then after 2 
(two) years it will be. 

(A.) 53,900 (B.) 54,000 (C.) 54,080 (D.) 54,900 
(79.) Which number is 40% less than 90? 

(A.) 50 (B.) 36 (C.) 60 (D.) 54 
(80.) What is the value of x in the equation 3x-15-6-0? 

(A.) 7 (B.) 8 (C.) 9 (D.) -9 
(81.) Find the number of triangles in the given figure 
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(A.) 4 (B.) 5 (C.) 6 (D.) 7 
(82.) 4, 7,12, ....... 28, 39 what number should fill the blank? 

(A.) 19 (B.) 24 (C.) 14 (D.) 16 
(83.) In a certain code, TELEPHONE is written as ENOHPELET. How is ALIGATOR written in that code? 

(A.) ROTAGILA (B.) ROTAGAIL (C.) ROTAGILE (D.) ROTEGILA 
(84.) 22, 21, 23, 22, 24, 23, should come next? 

(A.) 22 (B.) 24 (C.) 25 (D.) 26 
(85.) V, VIII, XI, XIV, _, XX what number should fill the blank? 

(A.) XV (B.) IX (C.) XXIII (D.) XVII 
(86.) Find the odd one out 

(A.) Diving (B.) Driving (C.) Swimming (D.) Sailing 
(87.) Find the odd one out 

(A.) Write (B.) Read (C.) Knowledge (D.) Learn 
(88.) Arjun walks a distance of 4 metres towards south. Then he turns to the left and walks 3 metres. After 
this he turns to the right and walks 4 metres. In which direction is he facing now? 

(A.) North-East (B.) South 
(C.) North (D.) South-West 

(89.) 120, 99, 80, 63, 48? 
(A.) 35 (B.) 38 (C.) 39 (D.) 40 

(90.) In a certain code, CALANDER is written as CLANADER. How is CIRCULAR written in that code? 
(A.) ICCRLURA (B.) CRIUCLRA (C.) ICRCLUAR (D.) CRIUCALR 

(91.) Choose the word which is different from the rest. 
(A.) Rigveda (B.) Yajurveda (C.) Ayurveda (D.) Samveda 

(92.) Find the wrong number in the series. 
1, 2, 6, 15, 31, 56, 91 

(A.) 31 (B.) 15 (C.) 56 (D.) 91 
(93.) The day before yesterday was Saturday. What will be the day after tomorrow? 

(A.) Thursday (B.) Friday (C.) Wednesday (D.) Monday 
(94.) RQP, ONM, _, IHG, FED, find the missing letters. 

(A.) CDE (B.) LKI (C.) LKJ (D.) BAC 
(95.) Find the wrong number in the given series. 
8,27,125,343,1381 

(A.) 27 (B.) 1381 (C.) 8 (D.) 343 
(96.) Find the missing figure in the series from the given answer figures. 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(97.) Which letter is exactly midway between G and Q in alphabet? 
(A.) K (B.) L (C.) M (D.) N 
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(98.) If in a certain code '15789' is written as 'XTZAL' and '2349' as 'NSPL' the how will '23549' be written 
in the same code? 

(A.) NPTUL (B.) PNTSL (C.) NPTSL (D.) NBTSL 
(99.) A man is facing west; He turns 45 degrees, in the clock wise direction and then another 180 degrees in 
the same direction and then 270 degrees in the anticlockwise direction. Find which direction he is facing now? 

(A.) South-West (B.) West 
(C.) South (D.) East-South 

(100.) Pointing to a photograph Anjali said, “He is the son of the only son of my grandfather". How is the 
man in the photograph related to Anjali? 

(A.) Brother (B.) Uncle (C.) Mother (D.) Son 

 
 

ASSAM CIRCLE-PA/SA EXAM -2022 
ANSWER 

(1.) B (2.) C (3.) B (4.) A (5.) D 
(6.) B (7.) B (8.) D (9.) B (10.) C 
(11.) B (12.) D (13.) A (14.) B (15.) C 
(16.) D (17.) B (18.) B (19.) D (20.) C 
(21.) C (22.) A (23.) D (24.) B (25.) D 
(26.) C (27.) A (28.) A (29.) B (30.) B 
(31.) A (32.) A (33.) C (34.) B (35.) B 
(36.) A (37.) B (38.) B (39.) A (40.) C 
(41.) A (42.) C (43.) B (44.) D (45.) A 
(46.) B (47.) A (48.) C (49.) D (50.) A 
(51.) C (52.) A (53.) B (54.) D (55.) D 
(56.) A (57.) B (58.) C (59.) A (60.) B 
(61.) C (62.) A (63.) D (64.) A (65.) C 
(66.) A (67.) B (68.) C (69.) A (70.) C 
(71.) B (72.) C (73.) D (74.) C (75.) D 
(76.) A (77.) B (78.) C (79.) D (80.) A 
(81.) B (82.) A (83.) A (84.) C (85.) D 
(86.) B (87.) C (88.) B (89.) A (90.) D 
(91.) C (92.) D (93.) C (94.) C (95.) B 
(96.) C (97.) B (98.) C (99.) A (100.) A 

 

 
 
 
 
 
 
 
 


